Total No. of Questions : 11 ] [ Total No. of Printed Pages : 4
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B.A. II/B.A./B.Sc. (Part-1I) (Hons.) (Geography)

Examination, 2022
ECONOMICS
Paper - I

(Macro Economics)

Time : 1% Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries

Note —

M —

2 marks.

(@us—3) (3k : 2 x 10 = 20)
Tt T/ e & S ST (SW-EE 50 IS) | Yo WY 2 3 T |
Section-B (Marks : 7 x 5 = 35)

Answer all five questions. Each question has internal choice (Answer limit
200 words). Each question carries 7 marks.

(Tus-9) (3F® : 7 x 5 = 35)
T Ofer el % S SIfNU | TS 9§ foeheq @1 e #ifeg (Sw-dmE
200 ¥IsT) | TOF Y9 7 3TH H T

Section—C (Marks : 15 x 3 = 45)

Answer any three questions out of five (Answer limit 500 words). Each
question carries 15 marks.

(Tus-—|) (3% : 15 x 3 = 45)

o= | § fegl 9 9v & St SifST (SW-Hm 500 Is) | Yo 99 15 37
Ealkd
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Section—A

(@us-3))

1. Explain the following :
frefafea w1 g9=my

(@)

(i)

(iii)

(iv)

v)

(vi)

(vii)

(viii)

(ix)

x)

BR-22

Macro Economic Paradoxes
THfte T foename

Net Economic Welfare
fags e e

Say’s law of Market

q w1 aeR fEd

Effective demand

TS HT

Induced investment

e fafr=m

Liquidity trap

ALAAT ST

Concept of accelerator

T hi STALRON

Phase of depression

TS I STere

Sources of economic growth
M fome & &
Assumptions of Neo-classical growth model

Toyfafted o dfsd &1 A=aQ
( 2 )

2x10=20
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Section-B
(Tus-9) 7x5=35
2. Explain the nature and scope of Macro Economics.
Tafte AT = THid o & H GHAET |
Or
(Irgam)
What is circular flow of income ? Explain.
T T THE TAE T T 7 TR
3. Write a short note on Keynesian theory of Employment.
HI % IR g | T dfaa feuoy fafe
Or

(3=

Explain the relation between Average Propensity to Consume (APC) and Marginal

Propensity to Consume (MPC).
3Aa SUYI wgfa qen dE SN g B g oais |
4.  Explain marginal efficiency of capital.
STt T HE q& S TEesl |
Or
(3=
What is supermultiplier ? Explain.
YU F ® 7 s
5.  Write a short note on ‘Pure Monetary Theory of Hawtrey’.
‘T & foRIs A e’ W % @y fooh fafeg
Or
(Irgam)
Explain the difference between multiplier and accelerator.

Tk O H ST GHESU |
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6. Explain the role of human resources in economic development.
A faema | AFe g 1 i gaems )
Or

(g
Explain the role of technical know-how in economic development.
Tk faehm § qehdiRl 9 1 iR H TR
Section—-C
(@ue-J) 15%x3=45

7. Explain various concepts of National Income. Which of these do you prefer

most suitable measure of economic development and why ?

T 21 i fafie sravmonstt o1 =aren Sifsu | 3s faar & 590 | i STaemron
afor T o1 gaag |9 § ik =i 2

8. Explain the classical model of employment and income with diagrams.
U 9 39 & gfafsed fagra =t Yot gfeq =aen s

9. What is investment multiplier ? Explain with suitable diagrams and equations ?
faf=m o = ¥ 2 sTavas YEnfesl 9 wHeROn dfed SR Hifed |

10. Ceritically evaluate the Hick’s model of trade-cycle.
ferg & =R-=% faga &I AG=AHS S HIFT |

11. Discuss critically Harrod-Domar model of economic development.

He-S & e o dfed ® GHeeTs o= ST |
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